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(Honours Generic/Regular)

Answer the Questions from any one Option.

OPTION-A
For Honours Generic/Regular
~ Paper : BOT-HG-3016/RC-3016
(Plant Physiology and Metabolism )

OPTION-B
For Honours Generic
Paper : BOT-HG-3026
(Environmental Biotechnology)
Full Marks : 60

Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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SITE 37 S AR LG TSI (I AL
OPTION-A :
' SleRpTREET ?
Paper : BOT-HG-3016/RC-3016
(Plant Physiology and Metabolism ) (@) Toom o= el
1. Answer the following questions as directed : (b) R . .
TS Al ehiaRe Tee R g 1x7=7 (c) ool s gw
() Which one of the following statement is
correct when a cell is fully turgid ? (d) A o
@ DPD = OP | (iii) Which one of the following is not an
(b) DPD = 0O (zero) | essential micro elements ?

c/ WP=0 (zero)
(d) OP = 0 (zero) (b) Tron
TN o B IR oS Rewe Gt |

(a) Boron

o e | | (¢) Manganese
- { d) Potassium
(a) DPD = OP | ( .
(b) DPD = * | RCAE ARG CNET SRR BRI
(c) WP = % , | 1 T2
(@ OP = | @ <
(i) Who first proposed the transpiration pull |
and cohesive force of water theorypfor | (b) S
ascent of sap ? | ) R G
(@) . Dixon and Jolly _ - | (e
(b) Sir J. C. Bose | (d) oA
(c) Noggle and Fritz |
(d) Boehm
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(iv) Who first coined the term photoperiodism ?
(a) Curtis and Clark
(b) Garner and Allard
(¢) Miller and Skoog
(d) Salisbury and Ross
(A AN A FoeARAfEm (R
Afsfern) wsl avem R e
(a) I = FF
(b) A" =% e
(c) e o Fol

(d) GRS % =

(v) Swelling of wooden doors and windows
during rainy season in due to ____
phenomenon. (Fill in the blank)

i e o3 i iRl RIGS epet v
ef&mig AW TG 1 (A 2 o9 F90)
(vi) Indole-3-acetic acid is belongs to

group of plant growth regulators.
(Fill in the blank)

3EEI-3-e AT 3% (5T Tfew
I e (A 312 759 )
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(vii) In Calvin cycle, how many ATP molecules
are required to produce one molecule of

glucose. (Answer directly)
b1 g% ST I IR (e bape (25!
ATP 993 SITHISH | (Zorw &eF fra)

Write short notes on the following: 2x4=8
(a) Importance of osmosis in plants

(b) Role of phosphorus in plant growth

(c) Co-énzymes

(d) Vernalin

Neale e 5 GORA e

() Tfers wfeR w3y

(b) e IES TR g

c) ITTLCHS

(d) SIem

Answer any three of the following questions :

‘ 5x3=15

(@) “Cell is an osmotic system”. Justify the
comment.

(b) Write notes on various agents of
biological nitrogen fixation.
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(c) Theory of starch = sugar interconversion
in stomatal opening and closing.

(d) Cytochrome pump hypothesis.

(e) Describe Munch hypothesis of
translocation of solutes.

R e fofbr e Tes fran o

(@ @IS AT TS o7 —IAL! 2o = |

(b) GRS (aRe ffewae o @i Rifew
wS e R sate B

(c) FT<E T WS (AT AT e = 2
WA a9 ]|

(d) GIRBIE ™ TSIM |

(o) ToRE ARIZIS T T 01 |

Answer any three of the following questions :
10x3=30

Reme R oA e Ter f&iflkal ¢

(a) What is enzymes ? Describe the modern .

system of enzyme classification with

suitable examples. 2+8=10
O M R g7 2 Termns Sy @l
Rerem Tt 7z it 4

(b) Write a short note on Kranz anatomy
with suitable diagrams. Describe in detail
the C4 cycle of photosynthesis. 4+6=10
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(c)

(d)

(e SIS FE OI-7E 5F aft GBI
o7l | FACARACATR C, T I W4 |
What do you mean by C; and C; plants ?

Mention the differences between C; and
C4 plants. 5+5=10

C; &I C, Sfew I & 311 ¢ @R
Tiewe wiore At AP e |

Give an schematic representation of
cytoplasmic respiration. Describe how
oxidative decarboxylation of pyruvate into
Acetyl Co-A. 5+5=10

@IF 2T e (@A 7RIS Torgem
=1 | T I K" 2’ visfos oy
AT FEE “@fbbizs T GTEisy 97

(Acetyl Co-A) &S = Il 31 |

What is auxin ? Discuss the physiological

role. and functions of auxins in plants.
2+8=10

R N S SN S

g IR IR |

What do you mean by photoperiodic
induction ? Describe in detail the
mechanisms of photoperiodism. 2+8=10

e Trpisiat A & gt 2 A afeferar
sfern ReRe e 39 w11
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1.

OPTION -B

Paper : BOT-HG-3026

( Environmental Biotechnology)

Answer the following questions :

1x7=7

were Al PR ey i e

(@)

(b)

(c)

(@)
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Name one secondary pollutant.

9Bl (M A7EF I =i

Name a Ramsar site of the state of
Assam.

S ISP GO IRT BNE AN i)

Name one NGO from Assam that work
in the field of environmental conservation
and ecology.

AR AT e~ R crao I
TR ST GBI (FEIFIST FAER AN oy

leads to reduction in the dissolved
oxygen.

3 T IIgS SRITE 25 |
What is the full form of COD? -

COD T =5y @ fFe
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(9)

From which district the Chipko
Movement started ?

@i T At Bol Sieiew TR cafte e

Where is the headquarter of United
Nations Environment Programme (UNEP)
situated ?

QPRI ARG IFLHR (UNEP) T referm
I SRS ?

Write short answers : 2x4=8
i T Y&t a8
(@) What are the various components of acid

(b)

(c)

(d)

3 (Sem-3/CBCS) BOT HG 1/2/RC/G 9

rain ?

45T I Rica Toim & Be

Write two disadvantages of trickling filter.
Bl RebiRa 7or SrgRe o

What is air quality index (AQI)?

IR e PRI (AQI) 52

What is environmental ethics ?

s ool e
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3. Answer any three of the following: 5x3=15
e R fofne Tes o e

(@)

(b)

(c)

(d)

(e)
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Give a brief account of indoor air
pollution.

1< oo A1y aqaer oy Red fan

What are the effects of increased carbon
footprints ?

I ol e oo [ e

What are the positive and negative
impacts of trade on the environment ?

FARER evige e s Wi @RS
o [ 52

Describe the process involved in an
oxidation pond.

ST 3fte wive el <@ =i

State the functions of the Central
Pollution Control Board.,

(R 2173t et <6 ooz e 1
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4, Answér any three of i:he following : 10x3=30
Rtz fofabt em T &t e

(a) What is greenhouse effect ? What are the
major greenhouse gases? State few
measures to reduce emission of green-
house gases. - 3+2+5=10
%% 97 AoR e g4 G 9% (AR &
e oS 9% (o Fefsm g7 3917 I Fgmm
Y TEd FA

(b) | State few major causes for environment
~ movements in India. Give an account of
the Narmada Bachao Andalon. 4+6=10

SRS SR TR [ 2w dR TR
7 it I8 SiTHEE [Re=e T

(c) Give an account of International NGOs
~ that work in the field of environment.
10

ARG (RS T T SIERIG < & s
R i

What is Kyoto Protocol ? Describe the
@ salient features of the Kyoto Protocol.

2+8=10
f’s eee e RS dBwe Ty
| TRfRgPRR 3
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(e) What is bioremediation ? Give an

account of molecular approaches in

bioremediation. , - 2+8=10
ToR 2P (aRefecsn) ¢ tor afdmme
kT orafer R faan

Give an account of the Rio declarations
on environment and development. What
were the important outcomes of the Rio
Earth Summit 1992 ? 7+3=10

AR e TRER e ﬁu’a‘
R Tt 1 S R R Wi Bifiite avegsjef
T & Sty
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